5 5 = 5 5 5
§ g B £ 5 g
a -] £ a8 a a Q
£ E g 5= o= E
E : : g gt f E
g 5 5§ sf ¢
= T = = = 2
§ : ] b L
0510 15 55 05 00 45 25 00 46 02 15
Poznan x / / \ / Poznan
Poznan Debiec 03 7 U o1 59 54 3] 7] 06 o ?g_ 09 Poznan Debiec
Lub 57/8 \ 03 52/3/ 48/ \ \ \ /35 \ /04 Lub
ubon \I6 \oe / / 55/6\ \36/7 m‘ / 15/6 ubon
. 52 58 47 43 30 58 .
Wiry \22 2 0l \12 |7\/ 21 \ Wiry
S . 46 51 41 36 24 52, s .
zreniawa / \27 / B \ / / ‘ﬂ \4 /\23 77 \ L Zreniawa
41 46, 36 31 14 7|
Trzebaw ) 3 M 3 28 7] Trzebaw
s 36 39 31 25 08 39 \] 42| S
teszew 2\37 24| 30 8 59 34 4 teszew
27 23 15 16 58 32,
Strykowo 70 39 % o7 e 5 Strykowo
G 19) 15 08 08 52 25 G
ranowo 3 e 34 5 5 00 ranowo
Plaszkowo 12 P 00 ol 54 00 0 7 i 58 18 07 Plaszkowo
. 03  57/8 51/2 50/1 301 /35/6 08/9 .
Grodzisk 09 N 03 5071 37 0778 56 Grodzisk
= "~ > X > » 5\ > $ >
g Aa > a2 > - > s > > ha >
3 ¥ "‘:"» « s [ 1S 3 \> > ¥ EY
Ruchoci 53 48 43 4] = 27 00 Ruchoci
uchocice J / \8 / \|2 / 50 / Ys 7 \7_5 uchocice
4 43 38 36 22 55
Drzymalowo / 3 / \ 8 05 / 5 2 / \ 30 Drzymalowo
Rakoniewice. A EL 57 33 2 3 09 v 55 27 50 34 Rakoniewice.
38 \ I
Rostarzewo 34 3 27 28 2 1 ] 00 3 = 20 Rostarzewo
’ 33/ 26/ \ /22 \ /|9 \ /06 \ /39 \ :
Tloki 38 34 19 05 38 45 Tlok
Wolsztyn OS] Wolsztyn
24 17 46 14 2 10 28 58 14 47 31 53
B E =
8 a E & a & 4
£ e 8 3 2 5 2
£ = E S5 £ €5 £
& 3 £ & El %
3 2 g §E 3 FE E



